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H BUA:4B8RLLE FIFHHIE 16% 110,935
B {iff 1.0 m234Y) 1,109
BiORNFHEEDELE 815
BiQAEBRMEDEEE 0

EED




B %

4616 |—fiEBE T MAE+HMEEE KE
1—F'No | (#&1%) r(>7avy H+2J70v9 {E R B i1
H3-1-5/NEUEE W = Al 58 = 0 431 10 m3
E{fiNo £ a1 g5 % B = B i B & E fi& =
* 215 BEXE SHSEIAFHE 0.64 A 22,898 14,655

100038 # #& HNEEEEITHTIEE 16.00 % 14,655 2,345

BUA:4B8RLLE FIFHHIE 16% 17,000
B {iff 1.0 m34Y) 1,700
BiORNFHEEDELE 1,466
HBlOAEBEMEDEEE 0

EED




R £ E M X

4922 |EEmEALL) (@) £ OkiEzL) | OE+HMEEE K2
1—F'No | (#&31%) r(>7avy H2J70v9 YE R B L
54 @ 7 4 9| 60cm Ll E80cmE i = & 58 =450 431 10 m2
E{fiNo £ a1 g5 % B = B i B & E fi& =
* 24| T R— i ER1% SHSEIAFHE 0.75 A 29,719 22,289
* 1 F1EXE SHSEIRFHE 1.35 A 26,309 35,517
* 15 BIEXE SHSEIAFHE 1.35 A 22,898 30,912
2565(777L-v9L-vEH 25t/ GHEURMEY 778 0.55 =] 55,640 30,602
1000|158 # % MNELFEIHTIENE 3.00 % 88,718 2,662
& B 4E8RLLE FIEFEIE:16% 121,982
B {iff 1.0 m234Y) 12,198
BiORNFHEEDELE 8,872
HBlOAEBEMEDEEE 0
EZE] KikE/NATHL




R £ E M X

4930 |EEHERT MAE+HMEEE KE
1—F'No | (#&1%) r(>7avy H2J70v9 {E R B i1
#5-4 (3) 8) = %0 58 =% 431 100 &
E{fiNo £ a1 g5 % B = B i B & E fi& =
* 24| T R— i ER1% SHSEIAFHE 2.60 A 29,719 77,269
4205|/\ ORI BEL IR E %1 REAE(E 1LFK0.80m3[0.60m3]EIHE 0% 13.40 B ] 11,166 149,624
4206 [{E A K EEELIEE 1miR A'—ATYV[BHLLIFE0.8m3] 13.40| B4R 11,933 159,902
100038 # & WNEEEEITHTIEES 6.00 % 77,269 4,636
H BUA:4B8RLLE FIFHHIE 16% 391,431
B {iff 1.0 EZY 3,914
BiORNFHEEDELE 1,958
HBlOAEBEMEDEEE 0

EED




R £ E M X

5988 |4 TS E K MAE+HMEEE KE
1—F'No | (#&1%) r(>7avy H2J70v9 E R BT
T8 - 10tE = & 58 =% 431 1 m3
E{fiNo £ a1 g5 % B = B B & E fim =
4092|F TSy (Bl EERiRE [10tFE ( 0%) 41Y E& 1/13.6] B 10,526 774
H BUA:4B8RLLE FIFHHIE 16% 774
B {iff 1.0 m34Y) 774
BiORNFHEEDELE 320
HBlOAEBEMEDEEE 0
(f5Z] 1305: o=15: f=48: L&




R £ E M X

5989 |4 TS E MAE+HMEEE KE
1—F'No | (#&1%) r(>7avy H+2JJ0vY {E R B i1
A - 10tE = Al 58 =% 431 1 m3
E{fiNo £ a1 g5 % B = B i B & E fi& =
4092|F TSy (Bl EERiRE [10tFE ( 0%) 41Y E& 1/11.1]  BERS 10,526 948
H BUA:4B8RLLE FIFHHIE 16% 948
B {iff 1.0 m34Y) 948
BiORNFHEEDELE 392
HBlOAEBEMEDEEE 0
(f5Z] 1305: o=15: f=48: L&




|k HE X
5993 | &L TS E MAE+HMEEE KE
1—F'No | (#&1%) r(>7avy H2J70v9 E R BT
T8 - 10tE = & 58 =% 431 1 m3
E{fiNo £ a1 g5 % B = B B & E fim =
4092|F TSy (Bl EERiRE [10tFE ( 0%) 41Y E& 1/14.3]  B5RE 10,526 736
BUA:4B8RLLE FIFHHIE 16% 736
B {iff 1.0 m34Y) 736
BiORNFHEEDELE 304
HBlOAEBEMEDEEE 0
(F5Z] 1.069: o=15: f=48: L&




B @ =
7101 |81 £ (/3w orkmy) E + | MA+HMEEE KB
1—FNo | (#E1&E) r>Javy H2J70v9 E R BT
= & 58 = 0 431 44.9 m3
B {fiNo £ 1 S 1% B = B B £ % fim =
4443 | B NIEY) B -BbE + -4+ - 455 + (0.80BH 44.90 m3 547 24,560
4545\ A EER BEL Y A3 58 BHILIAR0.8m3 [0.6ma] 20.20 m2 1,109 22,402|0.45%44.9
H BUA:4B8RLLE FIFHHIE 16% 46,962
B {iff 1.0 m34Y) 1,046
BiORNFHEEDELE 730
BiQAEBRMEDEEE 0
(EE] EmEEM045m2/P]1+1m3




B i =

7107 |91+ #&E(D) MAE+HMEEE KE
1—FNo | (#E1&E) r(>7avy H2J70v9 E R BT
= & 58 =% 431 91.1 m3
E{fiNo £ a1 g5 1% B = B B & E fim =
7108[91+ (KETL—HIBHI) # (1) 91.10 m3 2,014 183,475
H BUA:4B8RLLE FIFHHIE 16% 183,475
B {iff 1.0 m34Y) 2,014
BiORNFHEEDELE 582
BiQAEBRMEDEEE 0

EED




B i =

7108 |1+ (kBT —phiEa) EE ()] ME+HMEERE XE
1—FNo | (#E1&E) r>Javy H2J70v9 E R BT
= & 58 =% 431 1 m3
E{fiNo £ a1 S 1% B = B B & E fim =
4464| K& 7' L-hiEH ERE(D) 1,300kg 0.80BH 110% 1.00 m3 1,676 1,676
4372 —RHEA BB+ -#htE+ - BB+ [0.8BH JL—X 10,000m3%i# 1.00 m3 338 33| BRE
H BR: 4E8K L E FFEMIE :16% 2,014
B {iff 1.0 m34Y) 2,014
BiORNFHEEDELE 582
BiQAEBRMEDEEE 0

EED




B i =

7117 RiE L EH MAE+HMEEE KE
1—FNo | (#E1&E) r>Javy H+2J70v9 E R BT
10tDT = & 58 =% 431 1 m3

B {fiNo £ 1 S 1% B = B B £ % fim =
8004 | I/ \vr—CHMHESR 1.00 m3 131 131
7118 Bl (RE L) 10tDT_ SEHREEEE  1305m 1.20 m3 840 1,008
7119[FFA URE L) 0.8BH 1.20 m3 338 406
H BUA:4B8RLLE FIFHHIE 16% 1,545
B {iff 1.0 m34Y) 1,545
BiORNFHEEDELE 637
BiQAEBRMEDEEE 34

EED




B @ =
7118 BE#K (RE L) MAE+HMEEE KE
1—F'No | (#&1%) r(>7avy H+2J70v9 E R BT
10tDT  EMEEERE  1305m =% 58 =% 431 1 m3
E{fiNo £ a1 g5 % B = B B & E fim =
59884 > Ty Bk T8 - 10tE 0.62 m3 774 480
5989|4 LTy &k a - 10tE 0.38 m3 948 360
H BUA:4B8RLLE FIFHHIE 16% 840
B {iff 1.0 m34Y) 840
BiORNFHEEDELE 347
HBlOAEBEMEDEEE 0

EED




B i =

7119 |FEA (RE L) MAE+HMEEE KE
1—FNo | (#E1&E) r>Javy H+2J70v9 E R BT
0.8BH = & 58 =% 431 1 m3
B {fiNo £ 1 S 1% B = B B £ % fim =
4372\ —RHEA BB+ -#htE+ B+ [0.8BH JL—X 10,000m3% i 1.00 m3 338 338
& BR: B8R L E FIEMEIE:16% 338
B {iff 1.0 m34Y) 338
BiORNFHEEDELE 131
BiQAEBRMEDEEE 0

EED




B i =

7138 |I BRI C MAE+HMEEE KE
1—FNo | (#E1&E) r>Javy H+2J70v9 E R BT
10tDT  EMREEEE  1069m =% 58 =% 431 1 m3
E{fiNo £ 1 S 1% B = B B £ % fim =
8007\ RTIC I/ \wr—CHiliEsR 1.00 m3 1,933 1,933
5993|4 LT oy &k TH - 10tE 1.10 m3 736 810
7140|1FF A BRT) 0.8BH 1.10 m3 338 372
BR: B8R L E FIEMEIE:16% 3,115
B {iff 1.0 m34Y) 3,115
BiORNFHEEDELE 2,075
BiQAEBRMEDEEE 109

EED




B i =

7139 I BREID MAE+HMEEE KE
1—FNo | (#E1&E) r>Javy H+2J70v9 E R BT
10tDT  EMREEEE  1069m =% 58 =% 431 1 m3
E{fiNo £ 1 S 1% B = B B £ % fim =
800612 R I D I/ vy —SHifistEsR 1.00 m3 2,943 2,943
5993|4 LT oy &k TH - 10tE 1.10 m3 736 810
7140|1FF A BRT) 0.8BH 1.10 m3 338 372
BR: B8R L E FIEMEIE:16% 4,125
B {iff 1.0 m34Y) 4,125
BiORNFHEEDELE 3,136
BiQAEBRMEDEEE 106

EED




B i =

7140 |i&5A BRET) MAE+HMEEE KE
1—FNo | (#E1&E) r>Javy H+2J70v9 E R BT
0.8BH = & 58 =% 431 1 m3
B {fiNo £ 1 S 1% B = B B £ % fim =
4372\ —RHEA BB+ -#htE+ B+ [0.8BH JL—X 10,000m3% i 1.00 m3 338 338
& BR: B8R L E FIEMEIE:16% 338
B {iff 1.0 m34Y) 338
BiORNFHEEDELE 131
BiQAEBRMEDEEE 0

EED




B @ =
7155 |35 FrTHERE T 1 MAE+HMEEE KE
1—FNo | (#E1&E) r(>7avy H2J70v9 E R BT
GW-L-L-R = & 58 =% 431 237.2 m3
E{fiNo £ a1 S 1% B = B B & E fim =
8028| & HA g MBI/ Avy—CHfistESR 237.20 m3 52,670 12,493,324
8006[1EE I D I/ vy —SHlHESR 10.30 m3 2,943 30,313|BAT1
4264|FRIET B-BEL-phEL- &+ (0.8BH 431.00 m3 331 142,661
4268|FRIET #vE (D) 0.8BH 199.00 m3 3,480 692,520
& B 4E8RLLE FIEFEIE:16% 13,358,818
B {iff 1.0 m34Y) 56,319
BiORNFHEEDELE 26,619
BiQAEBRMEDEEE 26,400

EED

BEEEF 95 3.5m




B i =

7162 |EnRERIE I | mAE+HHEEE KB
1—F'No | (#&1%) r(>7avy H2J70v9 E R BT
= & 58 = 0 431 8.65 m2
E{fiNo £ a1 g5 % B = B B & E fim =
4922 |EAH#EAEL) () TR OkiR%L) | 60cm Ll 80cmR i 8.65 m2 12,198 105,513
4930 ERERT 21.63 & 3,914 84,660(2.5 x 8.65
7165|ffAZE ATV F)—b 18-8-40 BB BERF#EMH 1.64 m3 31,301 51,334[0.19 x 8.65
4616|— AR BAT INEEEY) 1.64 m3 1,700 2,788/0.19 x 8.65
4264|FRIET B-BEL-phEL- &+ (0.8BH 7.00 m3 331 2,317
4268|FRIET #RE (D) 0.8BH 2.00 m3 3,480 6,960
& B 4E8RLLE FIEFEIE:16% 253,572
B {iff 1.0 m234Y) 29,315
BiORNFHEEDELE 14,379
BiQAEBRMEDEEE 5,935

EED




B @ =
7165 |ARAZE ATV —b | ME+HMEEE AE
1—FNo | (#E1&E) r>Javy H2J70v9 E R BT
18-8-40 BB BEHRIEH = & 58 =% 431 1 m3
E{fiNo £ a1 S 1% B = B B & E fim =
3804|441 —k 18-8-40 BB 1.13 m3 24,700 27,911
3819| o> /NEIE I 1 1.13 m3 3,000 3,390
H BUA:4B8RLLE FIFHHIE 16% 31,301
B {iff 1.0 m34Y) 31,301
BiORNFHEEDELE 0
BiQAEBRMEDEEE 31,301

EED




B i =

7182 | Sn&AMT MAE+HMEEE KE
1—F'No | (#&1%) r(>7avy H+2J70v9 E R BT
(AA—7=) = Al 58 =% 431 4'm

E{fiNo £ a1 g5 % B = B i B & E fi& =
8016| 5v&AMT I/ vy —SHifistEsR 4.00 m 15,520 62,080
4264|FRIET B-FOE+-ftE+ -4+ (0.8BH 3.00 m3 331 993
& B 4E8RLLE FIEFEIE:16% 63,073
B {iff 1.0 m&4Y) 15,768
BiORNFHEEDELE 5,553
BiQAEBRMEDEEE 9,175

EED




B i =

7240 | 0.6ma L — R /84T | ME+HHEEE AE
1—F'No | (#&1%) r(>7avy H+2J70v9 E R BT
RE1.6mm =40 58 = 0 431 714 m
E{fiNo £ 1 g5 % B = B B & E fim =
7249|3)LT — A TRE $06 t=1.6mm FEI1F 7.14 m 18,853 134,610
8022|741 )L3—%1 I Avyr—CHifistESR 1.10 m3 10,720 11,792|0.249%4 4
524| Hith#t (B EER) JZ10mm 3.64 m2 1,715 6,243
4264|FRIET B-BEL-#hMEL -+ (0.8BH 7.00 m3 331 2,317
4268|RIET A (1) 0.8BH 8.00 m3 3,480 27,840
H BUA:4B8RLLE FIFHHIE 16% 182,802
B {iff 1.0 m&4Y) 25,603
BiORNFHEEDELE 7,739
BiQAEBRMEDEEE 14,816

EED




B @ =
7249 [T —R (TR E | 5+ HHEEE XE
1—FNo | (#E1&E) r(>7avy H2J70v9 E R BT
$06 t=1.6mm FFZ17 = & 58 =% 431 Tm
E{fiNo £ 1 g5 1% B = B B & % fim =
707 (2L =L T (A1 H) & 600 t=1.6mm 1.00 m 12,900 12,900
21 EBEXES SHSEIRFHE 0.26 A 22,898 5,953
H BUA:4B8RLLE FIFHHIE 16% 18,853
B {iff 1.0 m&4Y) 18,853
BiORNFHEEDELE 5,953
BiQAEBRMEDEEE 12,900
HEE]




WL Syt — Baf a8

ML/ —DAF HEHEM 1R4E i i 15 5 H fiff ERES 31—} No.
K ih m3 110.88 131.40] 8004 /T 7 3-003-1
EHERS
EEXS R AN TONIE
ERRETNES -
155 # KRR Rt A =
KA *E: B 25.73
K1 Ny (HO—F8) ZER REETE - A At KA (FE3REH(E) ] 1LF#50.8m3 (FF£0.6m3) * 2573 8’807 10’000
K2 -
K3 -
R(F#) 50.21
R1 EETF (%) 50.21 24,200 22,700
R2 -
R3 -
R4 -
Z(#+4 %) 24.06
Z1 A 1. 25 /\hO— /LG 24.06 116 148
Z2 -
Z3 -
Z4 -
S(ri 5 B {if) -
EH
WERE = n0s x ((—HOiox R+ o — X —— o+ o X — )X — =
+ 510(‘)201 x :Z:ggg o X S+ 0 ¥ - o0 X - 5021+  — 50A+21 = Ey_ -
+ 2146%6 x :‘1‘2 ST S+ 0 X - o0 X - 2406 +  — 24%06 = + =
+ = 8 4100 = 2573 = 51%201 — 2406 000
WHEM = 13140

B 4BE8IALLE FHIFFEIE:16%




WL Syt — Baf a8

WL/ \yTr—IZFh BEEEA EAEE R EEE BRES 31—k No.
HHETID m3 2.735.10 2,943.00] 8006 | T /%-019-4
LT
mIAE RAERIEImEH
& -
BEOHDEE -
B4 A R HAEE =0
K4 0 &8 6.43
K1 PRy (YO—FR) [FERER - PR A AR R (51 REE(E) ] 1L7%0.45m3 (FF%0.35m3) 5.72 9,990 9,700
K2 BINBRUSY B=60~80ke * 0.71 471 633
K3 - —
R(F7%) 90.52
R1 LBEXE 55.05 21,500 18,800
R2 HHRIEXE 26.98 24,600 21,600
R3 BT (45%) 8.49 24,200 22,700
R4 - —
Z(# ¥ 3.05
Z1 R 1. 25 /\FO—)LEGH 2.34 116 148
72 AV L¥aiS5— REUKR 0.71 131 161
Z3 - -
Z4 - —
S(h 15 B fifh) - —
FTER
WEEM = 273510 x %5 g:;gg + %& 23? t—w % )« 572 + 05143 T -
+ 55.05 22,898 + 26.98 26,309 + 8.49 x 27,649 + = x 0 ) x 90.52
100 21,500 100 24,600 100 24,200 100 == 55.05 + 26.98 + 8.49 + ==
+ % e 100 Bt 0 ‘et w e ) Dt i e -+
+ - x 0 + 100 — 6.43 — 90.52 — 3.05 0.00 }
100 0 100
EEEM = 294300

B 4BE8IALLE FHIFFEIE:16%




WL Syt — Baf a8

WL/ \yTr—IZFh BEEEA EAEE R EEE BRES 31—k No.
H#RTIC m3 1,795.10 1,933.00] 8007|fE L /\-019-3
LT
mIAE RAERIEImELE4mE i
& -
BEOHDEE -
B4 RKE|HRE i dpd4 HAEE =0
K4 0 &8 12.45
K1 Ny (HO—S8) [FZEER - P A AR RE (F2REEEME)] 1LFE0.8m3 (FFE0.6m3) 1067 18,400 17,800
K2 REIOD—> (GER) [/\UFAAFRK] BE208~1.1t * 1.68 1,560 1,950
K3 BAINRUVSY BE60~80ke * 0.10 471 633
R(F7%) 82.78
R1 LBEXE 51.55 21,500 18,800
R2 HHRIEXE 22.61 24,600 21,600
R3 BT (45%) 8.62 24,200 22,700
R4 — —
Z(# ) 477
Z1 R 1. 25 /\FO—)LEGH 4.67 116 148
72 AV L¥aiS5— REUKR 0.10 131 161
Z3 - -
Z4 - —
S(h 15 B fifh) - —
FTER
WEEM = 179510 x 1?6%7 x }&731288 + 11‘33 ?:ggg + %8 x 23? X e+ 1?62545 + o010
+ 51.55 x 22,898 + 2261 26,309 + 8.62 27,649 = x 0 ) 82.78
100 21,500 100 24,600 100 24,200 100 == 51.55 + 2261 + 8.62 + ==
+ 4.67 148 + 0.10 161 + = x 0 = x 0 ) x 4.77
100 116 100 131 100 == 100 == 467 + 0.10 + == + ==
+ 1—0—0 x 8 + 100 — 12.45 — 8126? — 4.77 0.00 }
EEEM = 193300

B 4BE8IALLE FHIFFEIE:16%




WL Syt — Baf a8

WL/ \yTr—IZFh BEEEA EAEE EEE BRES 31—k No.
SEAMT m 14.615.00 15,520.00] 8016|fET/%-119-3
LT
EER R BRE
SEAMTIER A0—7' =
SEAMNTIRRE 5360cm X 1E120cm
B4 RKE|HRE i dpd4 HAEBR %0
K4 0 &8 6.22
K1 Ny (HO—S8) [FZEER - P A AR RE (F2REEEME)] 1LFE0.8m3 (FFE0.6m3) 6.22 18,400 17,800
K2 -
K3 —
R(F7%) 33.97
R1 LBEXE 17.65 21,500 18,800
R2 HHRIEXE 5.89 24,600 21,600
R3 TR —AHEE% 5.40 24,700 24,400
R4 EERTF (B5%) 5.03 24,200 22,700
Z(# ) 59.81
Z1 #=A ZIER 150~200mm 28.51 6,120 5,550
Z2 SEANT ARINRILEAT GS-3 #27%24.0mm#8)H B 13cm 60cm X 120cm 2415 3,530 4,220
Z3 B 1. 25 /\FO—)LEGH 2.41 116 148
Z4 —
S(h 35 i i) -
FTER
WM = 1461500 x G{SS }&731288 + 0 2+ 100 622 + — -
+ 17.65 22,898 + 5.89 26,309 + 5.40 5.03 27,649 33.97
100 21,500 100 24,600 100 100 24,200 17.65 + 5.89 + 5.40 + 5.03
+ 28.51 x 5,550 + 24.15 4,220 + 2.41 = x 0 59.81
100 6,120 100 3,530 100 100 == 28.51 + 2415 + 241 + ==
+ - 0 + 100 6.22 — 33.97 0.00 }
100 0 100
EEEM = 1552000

B 4BE8IALLE FHIFFEIE:16%




I/ Ay r—UHEfiiEt &

WL/ \yTr—IZFh BEEEA EAEE EEE BEixES 31—k No.
J4IL3—%4 m3 5,213.90 10,720.00] 80225 T/ %-079-1
LT
MV DIELE BEY790%70 RC-40
B4 RKE|HRE i dpd4 HAEE =0
K ) 0 &8 8.16
K1 Ny (HR—58) FZHER - BEE A AR (F1REEE)] 1LFE0.45m3 (FF50.35m3) 8.00 9,990 9,700
K2 - -
K3 - -
R(757%) 60.90
R1 LBEXE 28.91 21,500 18,800
R2 TR —ARHEE% 14.21 24,700 24,400
R3 BT (45%) 11.88 24,200 22,700
R4 BHHRIEXSE 4.71 24,600 21,600
Z(# ¥ 30.94
Z1 BEYIZYIv¥I2 RC—40 27.61 1,200 5,445
Z2 R 1. 25 /\FO—)LEGH 3.27 116 148
Z3 - -
Z4 - -
S(h 15 B fifh) - —
FTER
BEEE = 521390 x ?88 x g:;gg + 1_0_0 —0— + 1_0_0 —0— ) 800 + —%16 + —
+ 28.91 x 22,898 + 14.21 29,719 + 11.88 27,649 + 4.71 26,309 ) x 60.90
100 21,500 100 24,700 100 24,200 100 24,600 28.91 + 14.21 + 11.88 + 4.1
+ ?:ggg + 3% Homm * o0 St o C N D - B - e +
+ 1—0—0 x + 100 8.16 — 6106%0 30.94 0.00 }
EEEM = 10,720.00

R ABBIRLLE FHFEHEIE -

16%




I RANTy By

WL/ \yTr—IZFh BEEA EAEE EEE ERES 31—k No.
EWEN 1 m3 38,797.00]  52,670.00] 8028| 1 T 7 8-059-49
LT
BEEEEH S 2.0mLL E5.0mLLTF
IVh—PR#E 21-12-25(20)(& }F)
HEHBEREDEE FEL
Bl -t DEE FEL
BETINDIESE —REE
EEEEREBH#HX S EEEL
5 RKE|HRE i dpd4 HAEE =0
K4 =N EH 214
K1 aAVH ) =R TE[NSYHRE-T—LK] EERES90~110m3.~h 1.63 51,800 51,800
K2 - -
K3 — —
R(F7%) 59.85
R1 LBEXE 22.23 21,500 18,800
R2 BT 12.06 26,000 23,700
R3 TR —AHEE% 5.72 24,700 24,400
R4 EUT 3.51 27,300 23,800
Z(# ¥ 38.01
Z1 £a29)—k BfF 21—12—25(20) W./C 60% 37.66 14,050 25,200
Z2 R 1. 25 /\FO—)LEGH 0.27 116 148
Z3 - -
Z4 — —
S(h 15 B fifh) - —
FTER
BEHE = 3879700 x {( ‘133 x g}ggg + = x . = 0, S 214 _ _
+ 2223 x 22,898 + 12.06 28,867 + 5.72 29,719 3.51 28,988 ) x 59.85
100 21,500 100 26,000 100 24,700 100 27,300 22.23 + 12.06 + 5.72 + 3.51
o ?i:égg + Homm * o0 St o XN G - B - e +
+ 1—0—0 x 8 + 100 — 2.14 — 5196%5 38.01 0.00 }
BEEM = 5267000
BUK :4B8IALLE FFFEFEIE 16%




